EVIDENZIA LA CIFRA CHE INDICA LE UNITA"
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Scrivi il numero in cifre

h3 da2-=
da7 d2 mb5=
c9 m9=
da2 d8 c6=
d7 c6 m7= 9 da4=
uk 2 da 9= da6 dl1 c6=
m2= h9 u9-=
U5 d4a m7-= clmas=
U4 d9 c6= c7 m9=
d9-= dé c3=
M4 = ubS mb5=
d4 c5 m2-= uk 7 h6=
da6 u6 di= dag usdi=
ul do-= uz=
c6= h7 u7-=
ul moé= u9 c9=
uk 7 = uz=
h7 u3s c4msS=
u dil cl= ué ml=
ha ud di= d3 m2=
d3 m2-= d6c4=
da3 d 1= u9 dl m2-=
da9 d6 m8-= uk2 1=
d7 c4-= da5 dl c8=
u3d c4-= ns=
da6 c6=
cl m3=
d2 c4=
da5 u3 c3= c9 m8=
u4 dlc7= cl=
h7 u8 dl= h6-=
d2cl m9= m2-=
d4 c5= da6 u6 c2=
u9 d4 m2-= ubS m4=
c8= d7 ml=
ulcl= c2=
dlc7 m7= ulc4d-=

u2 m8-= da8 ub-=




ESEGUI LE MOLTIPLICAZIONI
PER 10 - 100 - 1.000 &

_
5,2 x100 =
0,524 x 1.000 =
90,9 x 100 =
7,2x10 = 10 x 10 =
0,71 x 1.000 = 24 x 100 =
0,017 x 100 = 0,061 x 100 =
90 x 1.0 = 1,83 x 1.000 =
10 x 1.00 = 19.2 x1.00 =
6,8 x 10 = 0,409 x 10 =
8,4x10= 1,6 x 1.000 =
0,061 x 10 = 20 x 100 =
396 x 10 = 0,026 x 100 =
10 x 100 = 10 x 10 =
8 x 1.000 = 14x10=
3x10= 1,7 x 1.000 =
89 x 1.00 = 9,6 x 100 =
8,2x10= 259x10 =
0,8x10= 0,74 x 1.000 =
0,14 x 1000 = 0,047 x 1.000 =
8,4 x 100 = 6,38 x 10 =
0,03 x10 = 4,88 x 100 =
6,1 x 1.000 = 6,64 x 100 =
0,45 x 1000 = 0,47 x 10 =
40 x 10 = 0,07 x 100 =
1,14 x 10 = 5x 1.000 =
9,6 x 100 =
9,94 x 100 =
11 x 10 = 0,5x10=
10 x 100 =
0,801 x 10 =
23 x 100 = 1,04 x 10 =
0,961 x 10 = 6 x 1.000 =
0,344 x 100 = 10 x 10 =
0,235 x 100 = 7x10 =
176 x 100 = 9x 1.000 =
2,6 x 1.000 = 8,2x1.00=

0,058 x 10 = 0,023 x 10 =




